- ‘3'. Sy - @ A 2 O 2 2

AR [HEN G RAEITEAE

(B#RzR)

09H10




E ZC o Ec | A AR B IS IR

WS:EiE WD:E [ RHARERE

PM10 WS =8= RH <&~ WD

Wt
}

\
/!

8 100

vy

s ,/’_-h-\ v q’\frs\; 6 80 - —
Ty ANTETA S 2% T L HEEMWE 0 mm
% 50 == 1E 0 =
= v 9 2
= v =
25 2 40

0 0 20
0 2 4 6 8 10 12 14 16 18

) Time (hr)

( 35
PM10 WS -#- RH <« WD x

\ 100 8 100 Fd E

-\

_ 75 / 6 80 == =
T . . - HE#EmE 0 mm
2 s < o= 2E 0 T
Eﬁ ~e— MBpr ﬁ N g (4
s Y ¥ z‘(%% Y

25 \L % 4{ A ¢ 2 40

0 0 20

0 2 4 6 8 10 12 14 16 18
Time (hr)
=53\ N -} -] — N =< AVIN N o = y—J N m 2
BRI R B 5 B 4 B R IR R B R 54 =2 o



5= BTE
Z£% g0 AEAE L

e

111709/05 | i 111/09/05

B=E FME FhiE
B8 K5 L IR KHE _Lihs

111/09/05 111/09/05




# 4t i i

Fl
A
"

111

X

I

51 5 %4
11158H8H PLANT H2E B S

RERBK L _TEEIE KL BE

0.74
TAESEAHE 108158 14

0O 02 04 06 08 1 12 14

#EE DOTHEERE

&



111FE
AEKPIEEE

> IS 7J<§. IATEE

> EE CICH . EE[E: 400 AE - BIEE4QE
| . B=p-- DB - B5ER:4.55 28

B - EME:113.8%

Y

s oamE L gEE
- B1E{E:450 A& - BIEE:25 2R - B1E{E:50 B
- B5ER:27.2 AlE - BE5E/:13A2E - BE5ER:6 AE
o« EHE 6% . ERZE:52% o ERE:12%



SE2EE RIkIR SE3E TTiEER SHAEE TryhEE SEEE 3R
?%
==
]:E

ﬁﬁ EHEZ=ME(20220808)

F1E ZE2HP F2E wHEMR F3E =4 Fal= THIREE o= HiRE

TEEE TEEEE TEEE TR TEEEE
1) jUEZIE0.56 A B 1) jE%IE0.74 N8B
1) mE N b= st 4AE 1) & s tEa(E 2AE
1) AT E_EH_ 14508 1) RERBHIRER/K P iE B AIE
1.3 A8

2) BB LmEFE B _18AE

1) 225575 _FEMRT AR

2) & MEE_KZRI05AE

3) 20RtR_KAR0.8 AR

4) I FEE_IKRTANE

5) 738 FbF(18ER)_KARL5ALE

(-3

i



	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6

